N of simulated tracks vs transverse vert position

Particles

Tracking
'50'\

=
Q
N

[y
o
w

0.95 H f 1
1072 107 1

...............................................

...............................................

A T
E - T

F e - w
= el oy W

E & . L

B =% =0 =

N of associated tracks (simToReco) vs transverse vert position

Beconstru%ed TPs
w

o
N

10E

| N of simulated tracks vs z vert position

P =
2 -
L r
=

10
o 3
[o)) o

=
o
W

Trackin

=
o
N

10k

1

T

N of associated tracks (simToReco) vs z vert position |

Recons@cted TPs

=
o

o
N

10 10
TP vertr (cm)

TP vert z (cm)

200 30

2

HERAREd

L : I
0,9*- B0 A O

0.8L i
1072 107

02

1 10 1
TP vertr (cm)

N of simulated tracks vs.simPVz |

[%] C N .

R} : :

o : :

&10'E : ;

[0 : :

£ F : :

< r : : :

[8) I~ . . .

ICH : : :

[ : : :
10°F : R
107 e e R
0 E : : Pt

SR RSN NN Y
(10] SERER EEEEE P PEEPE P .a .....
[ AP P I I P PP I PO

0%56715 -10 -5

0510 15 20
TP Sim. PV z (cm)

__.1:.'... = Rl 'rir cictin
MOWESY Eish —
T E : T E+-H 4 ﬁ.ﬁ, ] | |
: : ' I i ' e il

0930 20 -10

0 10 20 30
TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

Recons@cted TPs
o

=
o

Ratio
=

0.8! L

10 15 20

50 =15 —10 -5

TP Sim. PV z (cm)



	Contents
	Page 1


